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12345        Pick up numbers to make the problem easier to solve - such as 160cm for Marianne's 

12346        The boats start moving from the same pier.xcvx 

12347        If we increase an amount by p%, we will have (100+p)% of the amount. So, to i 

12348        x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 = ... 

12349        1% of a number is 1100 of that number. 

12350        To solve this system of linear equations, start by simplifying both equations.  

12351        Do smart calculation!
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Edit Delete

ID              Title Unused

Location ID Prt#    Sub-problem



12345        Pick up numbers to make the problem easier to solve - such as 160cm for Marianne's 

12346        The boats start moving from the same pier.xcvx 

12347        If we increase an amount by p%, we will have (100+p)% of the amount. So, to i 

12348        x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 = ... 

12349        1% of a number is 1100 of that number. 

12350        To solve this system of linear equations, start by simplifying both equations.  

12351        Do smart calculation!

Hint is used in problems

All hints Recent My hints Filter CloneCreate

Open problem    Remove hint from sub-problem

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      a 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      c 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      d 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      a

Hint preview 
 
  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Edit Delete

ID              Title Unused

Location ID Prt#    Sub-problem



Edit Hint 12348:

Hint content:

Hint is used in problems:

  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Save Hint Cancel

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      a 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      c 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      d 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      a

Location ID Prt#    Sub-problem



Edit Simple Hint 3 in problem 941695 sub-problem A:

Hint content:

Hint is used in problems:

  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Save Hint Cancel

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      a 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      c 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      d 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      a

Location ID Prt#    Sub-problem



Create new hint Reuse existing hint

Hint content: 

Clone existing hint

Add Hint to problem 941695 sub-problem A:

  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

ConditionalSimple

12345        Pick up numbers to make the problem easier to solve - such as 160cm for Marianne's 

12346        The boats start moving from the same pier.xcvx 

12347        If we increase an amount by p%, we will have (100+p)% of the amount. So, to i 

12348        x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 = ... 

12349        1% of a number is 1100 of that number. 

12350        To solve this system of linear equations, start by simplifying both equations.  

12351        Do smart calculation!

ID              Title

Save Hint Cancel



Create new hint Reuse existing hintClone existing hint

Add Hint to problem 941695 sub-problem A:

ConditionalSimple

Save Hint Cancel

  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Hint preview:

12345        Pick up numbers to make the problem easier to solve - such as 160cm for Marianne's 

12346        The boats start moving from the same pier.xcvx 

12347        If we increase an amount by p%, we will have (100+p)% of the amount. So, to i 

12348        x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 = ... 

12349        1% of a number is 1100 of that number. 

12350        To solve this system of linear equations, start by simplifying both equations.  

12351        Do smart calculation!

ID              Title



12345        Pick up numbers to make the problem easier to solve - such as 160cm for Marianne's 

12346        The boats start moving from the same pier.xcvx 

12347        If we increase an amount by p%, we will have (100+p)% of the amount. So, to i 

12348        x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 = ... 

12349        1% of a number is 1100 of that number. 

12350        To solve this system of linear equations, start by simplifying both equations.  

12351        Do smart calculation!

Hint is used in problems

All hints Recent My hints Filter CloneCreate

Open problem    Remove hint from sub-problem

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      a 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      c 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 3  941699       13      d 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941738       10      b 

 > RSM Olympiad > 2018: RSM Olympiad > Olympiad 2018 > Grade 6  941731         2      a

Hint preview 
 
  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Edit Delete

ID              Title

Hint text contains "amo" Clear filterEdit filter

Unused

Location ID Prt#    Sub-problem



Add Hint to problem 941695 sub-problem A:

ConditionalSimple

Save Hint

  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Create new hint Reuse existing hint

Cancel

Clone existing hint



Add Hint to problem 941695 sub-problem A:

Conditional

Condition 1:

Condition 2:

Condition 3:

Simple

Save Hint

  x4 − 7x3 + 12x2  − 3x3 + 21x2 − 36x   + 2x2 − 14x + 24 =  
  = x2 ·(x2 − 7x + 12) − 3x·(x2 − 7x +12)   + 2(x2 − 7x + 12) =  
  = (x2 − 7x +12)·(x2 − 3x + 2) = (x − 3)(x − 4)(x − 1)(x − 2)

Create new hint Reuse existing hint

Cancel

Clone existing hint


